This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 7 - East Kilbride Central South

5,439

3

1,360

Stage 1

| Candidate Name     | Affiliation                        | No. of Ballot Papers |
|--------------------|------------------------------------|----------------------|
| John ANDERSON      | Scottish National Party (SNP)      | 1,705                |
| Willie CHALMERS    | Scottish Conservative and Unionist | 825                  |
| Gerry CONVERY      | Scottish Labour Party              | 1,425                |
| lain HUGHES        | Scottish Green Party               | 220                  |
| Susan KERR         | Scottish Labour Party              | 376                  |
| Collette STEVENSON | Scottish National Party (SNP)      | 790                  |
| Mark WATSON        | Scottish Liberal Democrats         | 98                   |
|                    | Total                              | 5,439                |

Candidate John ANDERSON Elected with 1,705 votes, being in excess of the quota of 1,360 Candidate Gerry CONVERY Elected with 1,425 votes, being in excess of the quota of 1,360

This report contains the transfers results.

Stage 2 - Surplus of John ANDERSON

| Action                                  | Total No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to John ANDERSON               | 0                             | 0.00000        | 0.00000           |
| Transfer to Willie CHALMERS             | 35                            | 0.20234        | 7.08190           |
| Transfer to Gerry CONVERY               | 0                             | 0.00000        | 0.00000           |
| Transfer to lain HUGHES                 | 105                           | 0.20234        | 21.24570          |
| Transfer to Susan KERR                  | 79                            | 0.20234        | 15.98486          |
| Transfer to Collette STEVENSON          | 1,371                         | 0.20234        | 277.40814         |
| Transfer to Mark WATSON                 | 15                            | 0.20234        | 3.03510           |
| Value of non-transferable ballot papers |                               |                | 20.24430          |
|   | Total                         |                | 345.00000         |

This report contains the transfers results.

Stage 3 - Surplus of Gerry CONVERY

| Action                                  | Total No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to John ANDERSON               | 0                             | 0.00000        | 0.00000           |
| Transfer to Willie CHALMERS             | 79                            | 0.04561        | 3.60319           |
| Transfer to Gerry CONVERY               | 0                             | 0.00000        | 0.00000           |
| Transfer to Iain HUGHES                 | 53                            | 0.04561        | 2.41733           |
| Transfer to Susan KERR                  | 1,083                         | 0.04561        | 49.39563          |
| Transfer to Collette STEVENSON          | 53                            | 0.04561        | 2.41733           |
| Transfer to Mark WATSON                 | 17                            | 0.04561        | 0.77537           |
| Value of non-transferable ballot papers |                               |                | 6.39115           |
|   | Total                         |                | 65.00000          |

This report contains the transfers results.

Stage 4 - Exclusion of Mark WATSON

| Action                                  | Total No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to John ANDERSON               | 0                             | 0.00000        | 0.00000           |
| Transfer to Willie CHALMERS             | 2                             | 0.04561        | 0.09122           |
| Transfer to Willie CHALMERS             | 27                            | 1.00000        | 27.00000          |
| Transfer to Gerry CONVERY               | 0                             | 0.00000        | 0.00000           |
| Transfer to Iain HUGHES                 | 3                             | 0.20234        | 0.60702           |
| Transfer to Iain HUGHES                 | 20                            | 1.00000        | 20.00000          |
| Transfer to Iain HUGHES                 | 3                             | 0.04561        | 0.13683           |
| Transfer to Susan KERR                  | 4                             | 0.04561        | 0.18244           |
| Transfer to Susan KERR                  | 26                            | 1.00000        | 26.00000          |
| Transfer to Susan KERR                  | 2                             | 0.20234        | 0.40468           |
| Transfer to Collette STEVENSON          | 2                             | 0.20234        | 0.40468           |
| Transfer to Collette STEVENSON          | 4                             | 1.00000        | 4.00000           |
| Transfer to Collette STEVENSON          | 1                             | 0.04561        | 0.04561           |
| Value of non-transferable ballot papers |                               |                | 22.93799          |
|   | Total                         |                | 101.81047         |

This report contains the transfers results.

Stage 5 - Exclusion of Iain HUGHES

| Action                                  | Total No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to John ANDERSON               | 0                             | 0.00000        | 0.00000           |
| Transfer to Willie CHALMERS             | 5                             | 0.04561        | 0.22805           |
| Transfer to Willie CHALMERS             | 3                             | 0.20234        | 0.60702           |
| Transfer to Willie CHALMERS             | 25                            | 1.00000        | 25.00000          |
| Transfer to Gerry CONVERY               | 0                             | 0.00000        | 0.00000           |
| Transfer to Susan KERR                  | 44                            | 1.00000        | 44.00000          |
| Transfer to Susan KERR                  | 6                             | 0.20234        | 1.21404           |
| Transfer to Susan KERR                  | 23                            | 0.04561        | 1.04903           |
| Transfer to Collette STEVENSON          | 6                             | 0.04561        | 0.27366           |
| Transfer to Collette STEVENSON          | 76                            | 0.20234        | 15.37784          |
| Transfer to Collette STEVENSON          | 90                            | 1.00000        | 90.00000          |
| Transfer to Mark WATSON                 | 0                             | 0.00000        | 0.00000           |
| Value of non-transferable ballot papers |                               |                | 86.65724          |
|   | Total                         |                | 264.40688         |

This report contains the transfers results.

Stage 6 - Exclusion of Susan KERR

| Action                                  | Total No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to John ANDERSON               | 0                             | 0.00000        | 0.00000           |
| Transfer to Willie CHALMERS             | 194                           | 0.04561        | 8.84834           |
| Transfer to Willie CHALMERS             | 5                             | 0.20234        | 1.01170           |
| Transfer to Willie CHALMERS             | 90                            | 1.00000        | 90.00000          |
| Transfer to Gerry CONVERY               | 0                             | 0.00000        | 0.00000           |
| Transfer to Iain HUGHES                 | 0                             | 0.00000        | 0.00000           |
| Transfer to Collette STEVENSON          | 61                            | 1.00000        | 61.00000          |
| Transfer to Collette STEVENSON          | 35                            | 0.20234        | 7.08190           |
| Transfer to Collette STEVENSON          | 132                           | 0.04561        | 6.02052           |
| Transfer to Mark WATSON                 | 0                             | 0.00000        | 0.00000           |
| Value of non-transferable ballot papers |                               |                | 340.26822         |
|   | Total                         |                | 514.23068         |

This report contains the transfers results.

Stage 7 - Exclusion of Willie CHALMERS

| Action                                  | Total No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to John ANDERSON               | 0                             | 0.00000        | 0.00000           |
| Transfer to Gerry CONVERY               | 0                             | 0.00000        | 0.00000           |
| Transfer to lain HUGHES                 | 0                             | 0.00000        | 0.00000           |
| Transfer to Susan KERR                  | 0                             | 0.00000        | 0.00000           |
| Transfer to Collette STEVENSON          | 63                            | 0.04561        | 2.87343           |
| Transfer to Collette STEVENSON          | 19                            | 0.20234        | 3.84446           |
| Transfer to Collette STEVENSON          | 133                           | 1.00000        | 133.00000         |
| Transfer to Mark WATSON                 | 0                             | 0.00000        | 0.00000           |
| Value of non-transferable ballot papers |                               |                | 848.75353         |
|   | Total                         |                | 988.47142         |